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ErHE *g 49, INEHeHL 50. ks 51. B
| 4| Bz x| Bz x| BB %
=i 1 43 1 28 1 18
EFH 14 5 10 4 10 1
TE=H 6 12 3 6 4 2
mEmH 5 14 3 6 2 4
TiE™ 8 10 13 3 4 2
Al 10 8 3 6 4 2
BEM 10 8 3 6 4 2
TiEFEKT 7 11 9 5 10 1
mAE+H 2 26 2 14 3 3
Emh 13 7 10 4 10 1
= ditl 10 8 10 4 10 1
BFEHET 20 2 16 2 - -
Z=4 F BT 23 1 22 1 - -
M P ET 23 1 22 1 10 1
% HHAT 23 1 22 1 - -
e+ 23 1 22 1 - -
EREA 20 2 16 2 - -
= 23 1 22 1 - -
AT 20 2 22 1 10 1
KEZHT 23 1 22 1 - -
T {EHmT 23 1 22 1 - -
yNIIES] 23 1 22 1 - -
LT 3 17 3 6 4 2
=) BT 16 3 16 2 - -
tht {EHT 16 3 13 3 - -
£ )1 BT 15 4 13 3 10 1
5 %0 AT 23 1 22 1 - -
=R ET 23 1 22 1 10 1
BHEH 16 3 16 2 - -
FEEFET 16 3 16 2 - -
/8 5+ Hy 4 15 3 6 4 2
XHHET 23 1 22 1 - -
=R+t 23 1 22 1 - -
2 HmT 9 9 16 2 10 1
= 5E 227 129 46
ERX SH3FESH1H SH3FESH1H SHM3IFES5H/1H
H Pt BT D HTER BT D HTER E#RET DM ER
& ERYEEREST |EFEEEREFEC |28 H- EREE

(HOAAHED)

137,162

115,014

105,793

98,021

89,318

85,623
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54.

PR AEEH 0

=3
HETH & *g 52. INERIBES 53. NERIBEH 54, hEREFEH
| 4| Bz AMIEREZT AOwEEY)] EA A
=i 1 15,919 1 370 1 9,319
EFH 15 352 21 70 14 195
7= 11 628 24 52 8 440
mEmH 2 2,283 4 163 2 1,065
TiE™ 5 1,140 11 114 7 478
Al 9 769 15 96 5 590
BET 8 866 13 108 9 419
TiEEFKT 14 364| 31 33 13 229
mAE+H 4 1,503 23 58 3 851
Emh 3 1,700 2 243 4 711
= ditl 6 1,091 8 136 6 484
BFEHET 32 41 32 21 28 35
Z=4 F BT 26 113 12 113 27 36
M P ET 27 103 14 103 26 43
2 A HET 28 89 16 89 30 29
e+ 30 47 27 47 31 23
EREA 32 41 32 21 32 19
= 20 162 5 162 21 79
AT 25 130 22 65| 25 53
KEZHT 29 81 18 81 29 31
T {EHmT 21 148 6 148 22 74
yNIIES] 34 13 34 13 33 17
LT 7 885 25 52 10 396
=& )BT 22 147 26 49 24 65
tht {EHT 18 220 20 73 17 108
)| BT 12 542 9 136 12 270
5 %0 AT 19 174 3 174 19 91
=R ET 24 135 10 135 23 68
BHEH 17 231 19 77 18 104
FEEFET 16 252 17 84 16 126
o 5 A7 10 630 29 42 11 310
L] 23 139 7 139 20 90
=R+t 30 47 27 47 34 15
2 HmT 13 371 30 41 15 188
= 5E 31,356 138 17,051
ERX SH3FESH1H SH3FESH1H SHM3IFES5H/1H
H Pt BT D HTER BT D HTER E#RET DM ER
s PRATERICKDES [FRATEMICESES |ERAAEICKDES
ERHEEREEST |BEBREEEREESY |BEBEBEEREST
B

4Pkm




ErHE *g 55. RESEAERE |56, SELHAERY |57 kP EASELE
| Al ER [ AO&EZBEY ] IER NI %
=i 1 333 1 10,857 1 60.3
EFH 22 49 17 89 16 12.0
TE=H 13 73 8 279 5 53.9
mEmH 3 178 2 1,727 7 30.3
TiE™ 4 159 9 233 14 14.7
Al 6 98 3 1,101 3 57.9
BET 14 70 5 517 11 22.2
TiEFEKT 23 46 13 107 13 17.9
mAE+H 18 61 4 805 4 545
Emh 2 178 16 93 17 7.7
= ditl 5 121 7 340 12 21.5
BFEHET 31 18 - - - -
Z=4 F BT 25 36 - - . -
M P ET 24 43 18 63 18 5.0
%= HHET 29 29 - - - -
de)4t 30 23 - - - -
EREA 34 10 - - - -
= 11 79 - - - -
AT 19 53 15 100 2 60.0
KEZHT 28 31 - — - —
T {EHmT 12 74 - - - -
yNIIES] 32 17 - - - -
LT 16 66 6 358 15 12.6
=& )BT 27 33 - — - -
o+ {EHRT 25 36 - - - -
)| BT 9 90 12 116 9 24.4
5N BT 8 91 - - - -
=R ET 15 68 11 122 6 31.7
BHEH 20 52 - - - -
FEEFET 17 63 - - - -
/8 5+ Hy 21 52 10 129 8 275
XHHET 9 90 - - - -
=R+t 33 15 - - - -
2 HmT 7 94 14 103 10 23.8
= 5E 132 17,139 51.2
ERX SH3FESH1H SH3FESH1H SHM3IFES5H/1H
H Pt BT D HTER BT D HTER E#RET DM ER
s PRATERICKDES [FRATEMICESES |ERAAEICKDES
" EXRHEEREEL |(2BH-TEH) (& B ErH)
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279

89
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5 R 5 - 5 = s

AT | 58. NREEH 59. KEEH 60. KAEEES
| 4| Bz £8| JIEfz [ E iE
=i 1 40 1 7 9 3
EFH 12 3 9 1 17 1
TE=H 2 19 9 1 4 5
mEmH 3 14 9 1 4 5
TiE™ 18 1 2 3 17 1
Al 7 7 9 1 9 3
BEM 11 5 9 1 9 3
TiEFEKT 18 1 9 1 17 1
mAE+H 9 6 4 2 13 2
Emh 4 13 4 2 9 3
= ditl 4 13 2 3 4 5
BFEHET 15 2 9 1 17 1
Z=4 F BT - - - - - -
M P ET - - 9 1 17 1
%= HHET 18 1 - - - -
de)4t - - - - - -
EREA - - - - - -
= - - 9 1 17 1
AT 15 2 - - 17 1
REH 4 13 - — - —
T {EHmT - - 9 1 2 8
yNIIES] - - - - 17 1
LNDHT 7 7 9 1 13 2
=& )BT 15 2 - — 13 2
tht {EHT 18 1 - - 7 4
£ )1 BT 18 1 9 1 13 2
5 %0 AT 9 6 9 1 17 1
=R ET - - 9 1 3 6
BHEH 12 3 9 1 - -
FEEFET - - 4 2 7 4
o 5 A7 - - 4 2 1 9
XHHET 12 3 - - - -
=FEH 18 1 - - - -
2 HmT - - 4 2 - -
= 5E 164 38 75
ER SH2EE SH2EE SH2EE
=g HETRTIABROWKR  [METHTHERORKRE | TEFRTHEROKR
H Pt E T ET AT IR ELER E BT IREE E BT IR EE
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